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A: nulary

mark the correct choice on

1- The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.
1) dormant 2) affable 3) temporary 4) vulnerable
2-  We waited for the storm to ........... before we left.
1) abase 2) abridge 3) abide 4) abate
3-  The minister desired the position simply for the .......... associated with it.
1) scope 2) origin 3) status 4) feature
4- The ........... researcher made sure to check her measurements multiple times.
1) initial 2 diligent 3) vague 4) apposite
5-  Denver’s impractical plan to build a subway system was .......... in 1970s.
1) surmised 2) strived 3) scrapped 4) scattered
6=  .cceereers.. Such as hair color and eye color are inherited genetically from one’s parents,
1) Traits 2) Omens 3) Dimensions 4) Enigmas
7-  The company has ........... $1000 to the team to get the project started.
1) ascribed 2) deposited 3) bestowed 4) allocated
8-  After a week the jury had still not reached a ............ :
1) status quo 2} verdict 3) sequence 4) suspect
9-  Heavy rains had .......... the expedition’s progress through the north-west of the country.
1} abandoned 2) evaded 3) hindered 4 distressed
10- The raitlesnake is the most ............. snake in the Untied States.
1) venomous 2) haphazard 3) zealous 4 ancestral

11

12

13-
14-
15-

The ancient Romans built an extensive and (11) ......... to serve their needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road (12) .......... the Appian Way, which led,
from Rome to Brundisium (now Brindisi), a port (13) ......... is now southern Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Naples, provided the first stage of the route (14) .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) .......... , provision for adequate drainage.

1) roads of durable system 2) durable system of roads

3) system of durable roads 4) durable road of systems

1) was construeted 2) that was constructed

3) was to construct 4 constructed was

1) in which it 2) where is 3) in what 4) which it is

1) used 2) be used 3) using 4) was used

1) the more important 2) the most important

3) most important 4) most importantly
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

Expansion of public healthcare and international relations are the other main objectives of the
fifth plan, an ambitious series of measures that include subsidy reform, banking, currency,
taxation, customs, construction, employment, the development of nationwide distribution of
poods and services, social justice and productivity. The main intention is to make the country
self-sufficient by 2015. By removing energy subsidies, Iran's long term intention is to make its
industries more efficient and competitive on the world stage. These reforms target the major
sources of inefficiency and price distortion in the country's economy and are likely to lead to
major restracturing of almost all economic sectors. The banking sector in Iran is seen as a
potential hedge against the removal of subsidies, as the plan is not expected to have a direct
impact on banks. Iranian President Mahmoud Ahmadinejad has stated that the country will
become the world's 12th largest economy by 201 5.

16- What does the passage mainly discuss?

1) Iran's Economic Reform Plan 2) Hedge against Removal of Subsidies

3) Iran's Long Term Self-sufficiency 4) Public Healthcare and International Relations
17- According to the passage, the expansion of public health is regarded as series
of measures in Iran.

1) vulnerable 2) manageable 3) straightforward  4) difficult

18- What does productivity in line 4 refer to?

1) The ratio of what is produced to what is required to produce it.

2) The rate at which radiant energy is used by producers to form organic substances

3) The ratio of the effective or useful output to the total input in any system

4) The ratio of the energy delivered by a machine to the energy supplied for its operation
19- Why does Iran want to remove energy subsidies? In order to make -

1) the country dependant by 2013

2) its industries more deficient and fragile on the world stage

3) the country self-sufficient by 2015

4) its industries more capable and powerful on the world stage

20- The author clearly mentions as the possible obstacle to the removal of
subsidies in Iran in the author's view?

1) economic inefficiency 2) Iran's banking sector

3) price distortion 4) inflation

PASSAGE 2:

Prior to 1979, Iran's economic development was rapid. Traditionally an agricultural society, by
the 1970s the country had undergone significant industrialization and economic modernization.
This pace of growth had slowed dramatically by 1978 as capital flight reached $30 to $40
billion US dollars just before the revolution.

The government's long-term objectives since the revolution have been economic independence,
full employment, and a comfortable standard of living for citizens, but at the end of the 20th
century, the country's economy faced many obstacles. Iran's population more than ever doubled
between 1980 and 2000 and grew increasingly younger. Although a relatively large number of
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Iranians are farmers, agricultural production has consistently fallen since the 1960s. By the late
1990s, Iran had become a major importer of food. At that time, economic hardship in the
countryside resulted in vast numbers of people moving to cities.

21- What would the possible topic be for the above passage?

1) Modernization in Iran 2) History of Iranian Economy
3) Industrialization in Iran 4) Iran's Economic Development
22- What does capital flight in line 3 refer to?

1) Economy led by national or regional government

2) Removal of daily stocks and goods from the market

3) Rapid movement of investments out of a country

4) Government's long term investment in private sectors

23- Which of the following is NOT mentioned by the author among the long-term economic
objectives in Iran after the revolution?

1} Providing full employment in the country

2) Doubling Iran's population and making it more vounger

3) Providing a comfortable standard of living for citizens

4) Getting rid of economic dependence on western countries

24- What has happened to agricultural production since the 1960s?

1) It has started to rise.

2) It has grown dramatically.

3) It has begun to decline.

4) It has provides jobs for a large number of Iranians.

25- Which of the following has forced vast number of people to move to cities by the late 1990s?
1} import of food from abroad

2) high wages in cities and big towns

3) economic sufferings in villages

4) growth of agricultural production all over the country

PASSAGE 3:

Following the nationalizations in 1979 and the outbreak of the Iran-Iraq War, over 80% of
Iran's economy came under the control of the government. After hostilities with Irag ceased in
1988, the government tried to develop the country's communication, transportation,
manufacturing, health care, education and energy sectors including its prospective nuclear
power facilities, and began the process of integrating its communication and transportation
infrastructure with that of neighboring states. The eight-vear war with Iraq claimed at least
300,000 Iranian lives and injured more than 500,000. The cost of the war to the country's
economy was some 3500 billion.

26- What does the passage mainly discuss?

1) 1979 Nationalizations in Iran’s Economy

2) Iran's Economig Infrastructure during the War
3} Iran's Communication and Transportation

4}y Impact of Iran-Iraq War on Iran’s Economy

27- The author clearly mentions that the resulted in the governmentalization of
Iranian economy.

1) start of the Iran-Iraq War 2) end of nationalizations in 1979

3) end of hostilities with Irag 4) start of privatizations in 1979

M}MQ“U’)Q“}‘@“)UQ&W"}&?'@PT
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28- According to the passage, the government attempted to develop the country's communication,

transportation, manufacturing, ete. after in 1988.

1) enmities towards Iraq ended 2) relationships with Iraq were enforced
3) hostilities towards Iraq began 4) mutual ties with Iraq were strengthened
29- The word facilities in line 4 is closest in meaning to .

1) efforts 2) prospects 3) endeavors 4) potentials

30- The author finally states that Iran — after the war with Iraq ended.

1) claimed at least 300,000 lives and asked for recompense

2) combined its communication foundation with that of neighboring countries
3) imposed on its economy some $500 billion and asked for recompense

4) separated its transportation infrastructure from that of neighboring countries

M}M%hd’)éM}‘@“)UQ‘GW'S)b'@PT
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